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QUESTION 1

Your customer has defined three business units: two of the them require the same set of receivables payment terms
whereas the third needs a separate set of receivables payment terms. 

How will you receive this requirement? 

A. Define one data set with common payment terms and exclude the payment terms feature from the third business
unit. 

B. Define one reference data set and modify the business unit security. 

C. Define two reference data sets, assign the first set to the two business units which will share the same payment
terms and second set to the business unit which need separate payment terms. 

D. Define three reference data sets and assign each data set to each business unit. 

Correct Answer: C 

 

QUESTION 2

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity. 

What will be the reorder quantity? 

A. 30 

B. 20 

C. 24 

D. 25 

Correct Answer: A 

 

QUESTION 3

Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer, you come
to know that they have a business that spans across multiple locations and they have warehouse situated across USA
and Canada. 

1.

 All their procurement, payables, and distribution activities take place from USA. 

2.

 They have a central warehouse in USA and after the goods are delivered to this warehouse, they are distributed across
multiple additional warehouses. The warehouses are managed separately from the requisitioning units. 
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3.

 For requesting material they have two units. One located in USA that monitors the current stock. They are responsible
for creating requisition for any material shortage in USA. They have another location in Canada for requesting material. 

Which setup fulfills this scenario? 

A. BU1: USA - as procurement and requisitioning Business Unit (BU) BU2: Canada - as requisitioning Business Unit
Define Service provider relationship where Canada procurement business unit serves as procurement and payables
service provider for Canada Requisitioning Business Unit. 

B. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payables service provider for Canada Requisitioning Business Unit. 

C. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where Canada procurement business unit serves as
procurement and payables service provider for Canada Requisitioning Business Unit. 

D. BU1: USA - as procurement business unit (BU) BU2: Canada - as requisitioning business unit BU3: USA - as
requisitioning business unit Define Service provider relationship where USA procurement business unit serves as
procurement and payables service provider for both Canada and USA requisitioning Business Units. 

Correct Answer: A 

 

QUESTION 4

Given the code fragment: 

Which method should be used on line 3 to enable default validation mechanism? 

A. u.setProperty(String, Object) 

B. u.setProperty(Schema) 

C. u.setEventHandler(ValidationEventHandler) 

D. u.setAdapter(XmlAdapter) 

Correct Answer: D 

Reference: https://docs.oracle.com/javaee/6/api/javax/xml/bind/Unmarshaller.html 

 

QUESTION 5
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Given: 

Which annotation do you use on line 1 to ensure that clients immediately time out when attempting to concurrently
invoke callMethod () while another client is already accessing the bean? 

A. @AccessTimeout (value = 1, unit = TimeUnit.SECONDS) 

B. @AccessTimeout (null) 

C. @AccessTimeout (-1) 

D. @AccessTimeout (0) 

Correct Answer: D 

Reference: http://tomee.apache.org/examples-trunk/access-timeout/ 
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